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QUESTION 1

During the design phase, one of the constraints listed is that because the organization is already using SQL Server
2008 in-house, a SQL Server database would have to be used for the vCenter Server. Because of the constraint,

A. the organization would have to use VCSA since it supports SQL Server

B. the organization would have to use the Windows versions of the vCenter Server, but the database would have to be
internal to the vCenter Server

C. either the VCSA or the vCenter Server can be used
D. the Windows version of vCenter Server would have to be used because VCSA does not support SQL Server

Correct Answer: D

QUESTION 2

A design choice guided by a best practice does not need to be justified.
A. True

B. False

Correct Answer: B

QUESTION 3

VMware HA can protect application corruption issues by using VM monitoring functionality.
A. True

B. False

Correct Answer: B

QUESTION 4

You are a VMware architect working at a company where a business application is being rolled out. Based on
conversations with the business, you establish that the RTO requirement is 2 hours, and the RPO requirement is 3
hours. Consider a situation in which the VMware platform is out of service following multiple hardware issues. The
application dropped from service at 2 p.m. To meet the application business SLA, which of the following is true?
A. When the application is brought online, the data must be from a version as of 4 p.m.

B. When the application is brought online, the data must be from a version as of 11 a.m.

Correct Answer: B
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QUESTION 5

You have been asked to review a vSphere HA design. The admission control policy is set to "The number of host
failures tolerated." The virtual machines vary in size, and use of VM-based reservations is common. Which of the
following should be recommended? (Choose three)

A. The platform has reservations removed unless specifically required by an application vendor verified or workload
verified requirement.

B. The platform should be configured with reservations based on resource pools

C. The platform should be configured with an appropriate slot size or the admission control policy changed to a
percentage based policy.

D. The platform should not be configured with reservations based on resource pools

Correct Answer. ABC

Latest VCAP5-DCD Dumps VCAP5-DCD PDF Dumps VCAP5-DCD VCE Dumps

Latest VCAP5-DCD Dumps | VCAP5-DCD PDF Dumps | VCAP5-DCD VCE Dumps 3/3


https://www.pass4itsure.com/vcap5-dcd.html
https://www.pass4itsure.com/vcap5-dcd.html
https://www.pass4itsure.com/vcap5-dcd.html
http://www.tcpdf.org
https://www.pass4itsure.com/vcap5-dcd.html
https://www.pass4itsure.com/vcap5-dcd.html
https://www.pass4itsure.com/vcap5-dcd.html

